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y=0.9 k=0.5

m=0.0 m=0.1 m=0.2 m=0.3 m=0.4 m=0.5 m=0.6 m=0.7 m=0.8 m=0.9 m=1.0

c=0.0 k=0.0

c=0.1 k=0.1

c=0.2 k=0.2

c=0.3 k=0.3

c=0.4 k=0.4

c=0.5 k=0.5

c=0.6

c=0.7

c=0.8

c=0.9

c=1.0

R G B H S B C M Y K BW – +



y=1.0 k=0.5

m=0.0 m=0.1 m=0.2 m=0.3 m=0.4 m=0.5 m=0.6 m=0.7 m=0.8 m=0.9 m=1.0

c=0.0 k=0.0

c=0.1 k=0.1

c=0.2 k=0.2

c=0.3 k=0.3

c=0.4 k=0.4

c=0.5 k=0.5

c=0.6

c=0.7

c=0.8

c=0.9

c=1.0

R G B H S B C M Y K BW – +



k
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.08

.09

R G B H S B C M Y K BW – +



bw

0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

.00
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.09

R G B H S B C M Y K BW – +
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These RGB, CMYK and HSB palets are generated using PostScript primitives. The CMYK colors are shown in three alternative
interpretations: pure, removed undercolor (the K component added to C, M and Y) and converted to RGB.


